0 15 mv
-1999~9999
0.2%FS + 1 0.5%FS + 1
1 0.1 0.001
.-1999~9999 .-1999~9999

DCov/12v < 30mA
1-4 1 4 LED
ON/OFF /

+1
1-4 ,LED ON/OFF

LED

Watch Dog

300~9600bps

0~50

< 85%RH
AC220V+10-15%(50Hz+ 2Hz)
< 50

4209

v



SET

CLK

CLK

CLK
50

v
Ve fEL Ik

A
BeE E I

CLR

CLR

HOLD

HOLD

(ALD( )

AL2

AL3

AL4

ON

(HOLD)( )

211



B HOLD
B AL

o, ALY

PV SET
SET SET
CLK=0
LLE | ok CLK=5
CLS=50
=Tl
L 1] ALl 1999 9999
92
J
F[‘—E AL2 1999 9999
a3
|
H‘——:I AL3 1999 9999
92
Il
H‘-_’ AL4 1999 9999

S3.

311




BH 11 ana 0 9999 / 0
I
AAC | ame 0 9999 / 0
L
AHT | anz 0 9999 / 0
HHY | AHa 0 9999 / 0
1 CLK 0
1 ST
2 CLK
2
1
10
1 1
CLK 5 PV CLK 5
SET 5 SET
SL1=0
1o SL1=1 XXX X
SL1
Jud SL1=2 XX XX
SL1=3 X XXX
SL2=0
’-‘ SL2=1
C SL2
5LC SL2=2
SL2=3
SL3=0
SL3=1
Ci
C SL3
53 SL3=2
SL3=3
ci o SL2. SL2.=0
JLb SL2=1
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SL2.=2
SL2.=3
SL3.=0
~ SL3.=1
sL3.
J SL3:=2
SL3.=3
SL4=0
CiC
L | Sts
SL4=1
| C -
ELR ] se 1~10
0
Cir 7
JL 0| Sk o 0.5*
C
F | DE 0~250
BT=0 300bps
BT=1 600bps
| BT BT=2 1200bps
o BT=3 2400bps
BT=4 3600bps
BT=5 9600bps
oL )
Pb 1| Po
HE 1 kka 0~1.999
-100.0%-~100.0
|
IDI:'3 P8 %
W) _
HH9 | kks 0~1.999
= n
NI
HUH | ouH
)
S5LL | st
Coo
S5LH | stH

5111




1 SET 5
2 60
1 SET ST 5
60
SET
2 BT SET
Pol KK1
Pobl KK1 KK1= + x  KK1
Pbl= x KK1 Pbl
: 0~1000kg, Okg 2, 1000kg
1008.( Pbl=0, KK1=1.000)
: KK1= + x  KK1
= 1000-0 + 1008-2 x 1=1000+ 1006~ 0.994
Pbl= x KK1 Pbl
=0 (2x 0994) 0= 1988
CLK 50 PV CLK 50
SET 5
AAL AAL
SET AAH AAH
SET
0~3000Kg
1 BAS 0 PB1 0 KK1 1.000
SET SET 5
2 0 50K g 50 Kg
3 SET PV CLK
4 SET PV CLK Tl 50
5 SET 5 PV AAL
6 SET PV AAL 1 50
7 SET AAL PV AAH
8 3000 Kg 2800 Kg 2800 Kg
9 SET PV AAH 8 2800
10 SET AAH PV HBC
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11 SET 5 PV

12 SET CLK 1 05 50
CLK 50
13 CLR
5
10 FS 90 95 FS 2 8 0 Kg
3000 Kg
50 FS
A

o<« [Tk

g 5 7R
5 >

——— SR ———

7111 7



""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""" 7o R
7/
/7
/7
S
7
&
5>
7
7
N
/7
7
7/ e
o<« HihFAE A
k//f*ﬁﬁmﬁ
.‘
2% >
SL2/SL2/SL3/SL3. 1
PvV< ALX PV  (Alx+AHXx)
SL2=1 AL1=1000 Kg AH1 10 Kg |, PV<
1000Kg PV 1000+10 1010 Kg

>

C )
SL2/SL2/SL3/SL3. 2

PV ALx PV (ALx-AHX)
SL2 =2 AL2=1000 Kg AH2 10 Kg ,

PV

1000K g PV 1000 10 990 Kg

AH1~AH4

( )
SL2/SL2/SL3/SL3. 3

SL3=3 AL3=1000 Kg AH3 10 Kg
PV> 1000 10 990 Kg < 1000+10 1010 Kg
AH3=0 Kg
1000 Kg
AH=10 990 1010
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3,000Kg

SL2=1, AL1=1000, AH1=10

6 6 KR E
&o LRI

EE PP, WRERET TR, EH%RE
HRE T EZEN/ER, P2 RANBEF 2 7
1000VL |, (HAKHL a8 Aah1E, F 20 2 AE 1] 2]
10104 _ERIP7 5 J5 A4 FEHL, Xt A5 28034 s 0k 1 72
P2~P64% sl 4k HL 25 Mt s i 00 52 AEL B30 58 1 990 B 5 4

911



3,000Kg

3,000Kg

1,010Kg
1,000Kg

990Kg

SL2.=2, AL2=1000, AH2=10

6O KHBIBRE
&o 4k LB

EE P PR, WRERSET ER , KEH%E
HREMBTEZENIER, £P2A RANBEF 2 7
10004, (HARHG I AZE, B2 & fE [ 2]
990U N EPP7 RS A R, X AA BB L T 18
P2~PO% x4k FL 25 A s bl 00 553485 B9 18 58 o 990 5 b 4

SL3=3, AL3=1000, AH3=-10
Q0 KR A
&o 4L BRI
P4 |
P 2 10Kg
P1 THFZZ: 10Kg
- P2\ /ips i
— s

FEE R PIRIP3 s, WEEENREN  HRBZRE.
FEP2AIP4 s, JIEEIRH &, KaSRIR.
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11711

=\ ALM3 N ALM1
OO i o 1220807
\2/® . 00239 oo
\3/ 17\ + ALM4 Czdy 10)ALM2
< V/mA out ON [~ ~N ON
4 )118}— o= w\25 11} oo
or i fafia)
A RS485/RS232 N =
620 o+ BRX(57(13)
7o mV in 7V AC220V
7 (2L e L {28f14)
AC220V 13 14
15 DC9V+
16
20
21
+ 17
- 18
8 9 AL1 10 11 AL2
22 23 AL3 24 25 AL4
(R485) 26 27
(RS232) 26 27 28
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